



Alfat Alsulaimi (433203564) (Physics 505)

No. 1st homework
Date: ١٤٤١ / ١٢ / ١٢

①

$$L^2 = -\hbar^2 \left[\frac{1}{\sin\theta} \frac{\partial}{\partial\theta} \left(\sin\theta \frac{\partial}{\partial\theta} \right) + \frac{1}{\sin^2\theta} \frac{\partial^2}{\partial\phi^2} \right]$$

$$L_z = -i\hbar \frac{\partial}{\partial\phi}$$

$$\text{The function } Y_2^0(\theta, \phi) = \frac{1}{4} \sqrt{\frac{15}{2\pi}} \sin^2\theta e^{2i\phi}$$

$$\begin{aligned} L^2 Y_2^0(\theta, \phi) &= -\hbar^2 \left[\frac{1}{\sin\theta} \frac{\partial}{\partial\theta} \left(\sin\theta \frac{\partial}{\partial\theta} \right) + \frac{1}{\sin^2\theta} \frac{\partial^2}{\partial\phi^2} \right] \cdot \left(\frac{1}{4} \right) \sqrt{\frac{15}{2\pi}} \sin^2\theta e^{2i\phi} \\ &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[\frac{1}{\sin\theta} \frac{\partial}{\partial\theta} \left(\sin\theta \frac{\partial}{\partial\theta} \right) + \frac{1}{\sin^2\theta} \frac{\partial^2}{\partial\phi^2} \right] \sin^2\theta e^{2i\phi} \\ &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[\frac{1}{\sin\theta} \frac{\partial}{\partial\theta} \left(\sin\theta \frac{\partial}{\partial\theta} \right) \sin^2\theta e^{2i\phi} + \frac{1}{\sin^2\theta} \frac{\partial^2}{\partial\phi^2} \sin^2\theta e^{2i\phi} \right] \\ &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[\frac{e^{2i\phi}}{\sin\theta} \frac{\partial}{\partial\theta} \left(\sin\theta \frac{\partial}{\partial\theta} \sin^2\theta \right) + \frac{\sin^2\theta}{\sin^2\theta} \frac{\partial^2}{\partial\phi^2} e^{2i\phi} \right] \end{aligned}$$

$$* \frac{\partial}{\partial\theta} \left(\sin\theta \frac{\partial}{\partial\theta} \sin^2\theta \right)$$

$$\sin\theta = \frac{1}{2}(1 - \cos 2\theta)$$

$$\frac{\partial}{\partial\theta} \left(\sin\theta \cdot \left(\frac{1}{2} \right) \frac{\partial}{\partial\theta} (1 - \cos 2\theta) \right)$$

$$\frac{d}{d\theta} \left(\sin\theta \cdot \left(\frac{1}{2} \right) (2 \sin 2\theta) \right) = \frac{d}{d\theta} (\sin\theta \cdot \sin 2\theta)$$

$$= \sin\theta \cdot (2 \cos 2\theta) + \cos 2\theta \cdot \sin 2\theta$$

$$= 2 \sin\theta \cos 2\theta + \cos 2\theta \sin 2\theta$$

$$L^2 Y_2^0(\theta, \phi) = -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[\frac{e^{2i\phi}}{\sin\theta} (2 \sin\theta \cos 2\theta + \cos 2\theta \sin 2\theta) + (2i)^2 e^{2i\phi} \right]$$

$$= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[\frac{2 \sin\theta \cos 2\theta + \cos 2\theta \sin 2\theta}{\sin\theta} - 4 \right] e^{2i\phi}$$

①

$$L^2 Y_2^2(\theta, \varphi) = -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[2 \cos 2\theta + \cot \theta \sin 2\theta - 4 \right] e^{2i\Phi}$$

$$\cos 2\theta = (1 - 2\sin^2 \theta), \quad \sin 2\theta = 2 \sin \theta \cos \theta$$

$$\begin{aligned} L^2 Y_2^2(\theta, \varphi) &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[2(1 - 2\sin^2 \theta) + \frac{\cos \theta}{\sin \theta} (2 \sin \theta \cos \theta) - 4 \right] e^{2i\Phi} \\ &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[2 - 4\sin^2 \theta + 2\cos^2 \theta - 4 \right] e^{2i\Phi} \end{aligned}$$

$$\cos^2 \theta = 1 - \sin^2 \theta$$

$$\begin{aligned} L^2 Y_2^2(\theta, \varphi) &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[2 - 4\sin^2 \theta + 2(1 - \sin^2 \theta) - 4 \right] e^{2i\Phi} \\ &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} \left[2 - 4\sin^2 \theta + 2 - 2\sin^2 \theta - 4 \right] e^{2i\Phi} \\ &= -\frac{\hbar^2}{4} \sqrt{\frac{15}{2\pi}} (-6\sin^2 \theta) e^{2i\Phi} \end{aligned}$$

$$L^2 Y_2^2(\theta, \varphi) = 6\hbar^2 \left(\frac{1}{4} \sqrt{\frac{15}{2\pi}} \sin^2 \theta e^{2i\Phi} \right)$$

$$L^2 Y_2^2(\theta, \varphi) = \boxed{6\hbar^2} Y_2^2(\theta, \varphi)$$

eigenvalue

$$L^2 |l, m\rangle = l(l+1)\hbar^2 |l, m\rangle, \quad l=2$$

$$L^2 Y_2^2 = 2(2+1)\hbar^2 Y_2^2 = 6\hbar^2 Y_2^2$$

$$\star L_z = -i\hbar \frac{\partial}{\partial \varphi}$$

$$L_z Y_2^2(\theta, \varphi) = -i\hbar \frac{\partial}{\partial \varphi} \left[\frac{1}{4} \sqrt{\frac{15}{2\pi}} \sin^2 \theta e^{2i\Phi} \right]$$

$$= -i\hbar \left(\frac{1}{4} \right) \sqrt{\frac{15}{2\pi}} \sin^2 \theta \frac{\partial}{\partial \varphi} e^{2i\Phi}$$

$$= -i\hbar \left(\frac{1}{4} \right) \sqrt{\frac{15}{2\pi}} \sin^2 \theta (2i) e^{2i\Phi} = 2\hbar \left(\frac{1}{4} \right) \sqrt{\frac{15}{2\pi}} \sin^2 \theta e^{2i\Phi}$$

$$L_z Y_2^2(\theta, \varphi) = \boxed{2\hbar} Y_2^2(\theta, \varphi)$$

eigenvalue

$$L_z Y_l^m = m\hbar Y_l^m$$

$$L_z Y_2^2 = 2\hbar Y_2^2$$

②

$$L_y \psi_l^{-l} = 0$$

$$(L_x - iL_y) \psi_l^{-l} = 0$$

$$L_x = i\hbar \left(\sin\varphi \frac{\partial}{\partial\theta} + \frac{\cos\varphi}{\tan\theta} \frac{\partial}{\partial\varphi} \right) \quad ; \quad L_y = i\hbar \left(-\cos\varphi \frac{\partial}{\partial\theta} + \frac{\sin\varphi}{\tan\theta} \frac{\partial}{\partial\varphi} \right)$$

$$\left[i\hbar \left(\sin\varphi \frac{\partial}{\partial\theta} + \frac{\cos\varphi}{\tan\theta} \frac{\partial}{\partial\varphi} \right) - i(i\hbar) \left(-\cos\varphi \frac{\partial}{\partial\theta} + \frac{\sin\varphi}{\tan\theta} \frac{\partial}{\partial\varphi} \right) \right] \psi_l^{-l} = 0$$

$$\left[i\sin\varphi \frac{\partial}{\partial\theta} + i \frac{\cos\varphi}{\tan\theta} \frac{\partial}{\partial\varphi} - \cos\varphi \frac{\partial}{\partial\theta} + \frac{\sin\varphi}{\tan\theta} \frac{\partial}{\partial\varphi} \right] \psi_l^{-l} = 0$$

$$(i\sin\varphi - \cos\varphi) \frac{\partial}{\partial\theta} \psi_l^{-l} + \left(\frac{\sin\varphi + i\cos\varphi}{\tan\theta} \right) \frac{\partial}{\partial\varphi} \psi_l^{-l} = 0$$

$$i(\sin\varphi + i\cos\varphi) \frac{\partial}{\partial\theta} \psi_l^{-l} + \left(\frac{\sin\varphi + i\cos\varphi}{\tan\theta} \right) \frac{\partial}{\partial\varphi} \psi_l^{-l} = 0$$

$$i \frac{\partial}{\partial\theta} \psi_l^{-l} + \frac{1}{\tan\theta} \frac{\partial}{\partial\varphi} \psi_l^{-l} = 0$$

$$* \text{ let: } \psi_l^{-l} = \Theta(\theta) \Phi(\varphi)$$

$$i \frac{\partial}{\partial\theta} \Theta(\theta) \Phi(\varphi) + \frac{1}{\tan\theta} \frac{\partial}{\partial\varphi} \Theta(\theta) \Phi(\varphi) = 0$$

$$i \Phi(\varphi) \frac{\partial\Theta}{\partial\theta} + \frac{\Theta(\theta)}{\tan\theta} \frac{\partial\Phi}{\partial\varphi} = 0 \quad * \quad \frac{\tan\theta}{\Phi \cdot \Theta}$$

$$\frac{i \tan\theta}{\Theta(\theta)} \frac{\partial\Theta}{\partial\theta} + \frac{1}{\Phi(\varphi)} \frac{\partial\Phi}{\partial\varphi} = 0$$

$$\frac{i \tan\theta}{\Theta(\theta)} \frac{\partial\Theta}{\partial\theta} = - \frac{1}{\Phi} \frac{\partial\Phi}{\partial\varphi} = \lambda$$

$$\frac{1}{\Phi} \frac{\partial\Phi}{\partial\varphi} = \lambda \Rightarrow \frac{\partial\Phi}{\Phi} = -\lambda \varphi \Rightarrow \ln\Phi = -\lambda \varphi$$

$$\Rightarrow \Phi(\varphi) = e^{-\lambda \varphi}$$

$$\begin{aligned}\Phi(\varphi) &= \Phi(\varphi + 2\pi) \\ e^{-i\lambda\Phi} &= e^{-i\lambda(\Phi + 2\pi)} \\ e^{-i\lambda\Phi} &= e^{-i\lambda\Phi} e^{-i\lambda 2\pi} \\ e^{-i\lambda 2\pi} &= 1 \\ \lambda &= i\ell \\ \Phi(\varphi) &= e^{-i\ell\Phi}\end{aligned}$$

$$\frac{i \tan \theta}{\Theta(\theta)} \frac{\partial \Theta}{\partial \theta} = i\ell$$

$$\frac{\partial \Theta}{\theta} = \frac{\ell}{\tan \theta} \frac{\partial \Theta}{\partial \theta}$$

$$\ln \Theta = \ell \int \frac{d\theta}{\tan \theta} = \ell \ln \sin \theta \Rightarrow \ln \Theta = \ell \ln (\sin \theta)^{\ell}$$

$$\begin{aligned}\Theta(\theta) &= \sin^{\ell} \theta \\ \psi_{\ell}^{-\ell} &= N_{\ell} \sin^{\ell} \theta e^{-i\ell\Phi}\end{aligned}$$

$$N_{\ell} = ?$$

$$\int_0^{2\pi} \int_0^{\pi} |\psi_{\ell}|^2 \sin \theta d\theta d\varphi = 1$$

$$|N_{\ell}|^2 \int_0^{\pi} \sin^{2\ell+1} \theta d\theta \int_0^{2\pi} d\varphi = 1$$

$$|N_{\ell}|^2 (2\pi) \int_0^{\pi} \sin^{2\ell+1} \theta d\theta = 1$$

$$|N_{\ell}|^2 = \frac{(2\ell+1)!}{4\pi (2\ell)!^2 (1!)^2} \Rightarrow N_{\ell} = \frac{\sqrt{(2\ell+1)!}}{\sqrt{4\pi} \cdot 2^{\ell} \cdot 1!}$$

$$\psi_{\ell}^{-\ell}(\theta, \varphi) = \frac{1}{2^{\ell} \ell!} \sqrt{\frac{(2\ell+1)!}{4\pi}} \sin^{\ell} \theta e^{-i\ell\Phi}$$

③

$$L_x = i\hbar \left(\sin\varphi \frac{\partial}{\partial \theta} + \frac{\cos\varphi}{\tan\theta} \frac{\partial}{\partial \varphi} \right) ; \quad L_y = i\hbar \left(-\cos\varphi \frac{\partial}{\partial \theta} + \frac{\sin\varphi}{\tan\theta} \frac{\partial}{\partial \varphi} \right)$$

we know that:

$$Y_1^0(\theta, \varphi) = \sqrt{\frac{3}{4\pi}} \cos\theta$$

$$L_- |Y_1^0\rangle = \hbar \sqrt{1(1+1) - 0} |Y_1^{-1}\rangle$$

$$L_- |Y_1^0\rangle = \sqrt{2} \hbar |Y_1^{-1}\rangle$$

$$|Y_1^{-1}\rangle = \frac{1}{\sqrt{2} \hbar} L_- |Y_1^0\rangle \quad (1)$$

$$L_- = L_x - iL_y \quad (2)$$

Q) in Q

$$|Y_1^{-1}\rangle = \frac{1}{\sqrt{2} \hbar} \{ L_x |Y_1^0\rangle - iL_y |Y_1^0\rangle \} \quad (3)$$

$$* L_x |Y_1^0\rangle = i\hbar \left\{ \sin\varphi \frac{\partial}{\partial \theta} Y_1^0 + \frac{\cos\varphi}{\tan\theta} \frac{\partial}{\partial \varphi} Y_1^0 \right\}$$

$$= i\hbar \sqrt{\frac{3}{4\pi}} \left\{ \sin\varphi \frac{\partial}{\partial \theta} \cos\theta + \frac{\cos\varphi}{\tan\theta} \frac{\partial}{\partial \varphi} \cos\theta \right\}$$

$$= i\hbar \sqrt{\frac{3}{4\pi}} \left\{ -\sin\varphi \sin\theta \right\} = -i\hbar \sqrt{\frac{3}{4\pi}} \sin\varphi \sin\theta \quad (4)$$

$$* L_y |Y_1^0\rangle = i\hbar \left\{ -\cos\varphi \frac{\partial}{\partial \theta} Y_1^0 + \frac{\sin\varphi}{\tan\theta} \frac{\partial}{\partial \varphi} Y_1^0 \right\}$$

$$= i\hbar \sqrt{\frac{3}{4\pi}} \left\{ -\cos\varphi \frac{\partial}{\partial \theta} \cos\theta + \frac{\sin\varphi}{\tan\theta} \frac{\partial}{\partial \varphi} \cos\theta \right\}$$

$$= i\hbar \sqrt{\frac{3}{4\pi}} \cos\varphi \sin\theta \quad (5)$$

(4), (5) \rightarrow (3)

$$|Y_1^{-1}\rangle = \frac{1}{\sqrt{2}} \frac{1}{\hbar} \left[-i\hbar \sqrt{\frac{3}{4\pi}} \sin\varphi \sin\theta - i(i\hbar) \sqrt{\frac{3}{4\pi}} \cos\varphi \sin\theta \right]$$

$$= \frac{\hbar}{\sqrt{2}} \frac{1}{\hbar} \sqrt{\frac{3}{4\pi}} \left[-i \sin\varphi \sin\theta + \cos\varphi \sin\theta \right]$$

$$= \sqrt{\frac{3}{8\pi}} \sin\theta (\cos\varphi - i \sin\varphi)$$

$$|Y_1^{-1}\rangle = \sqrt{\frac{3}{8\pi}} \sin\theta e^{i\Phi}$$